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3500F 3500 3500 3500 F
3000f 3000 3000 3000
2500 2500 2500 - 2500
2000f 2000 2000 2000
1500 1500 1500 1500
1000F ~ _ 1000 1000F ~ _ 1000F ~ _
C =28.98 [ps/ch] C = 28.78 [ps/ch] C =28.22 [ps/ch] C =28.22 [ps/ch]
s00F- - s00f - 500 . 500 T-
1 1 1 1 1 - 1 1 1 1 1 o 1 1 1 1 1 - 1 1 1 1 1 -
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,1,12) I’Oge*“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,1,13) r"’se*“ /% TVC (Mean) vs TP delay (c,b,ch)=(6,1,14) r’lﬁe*"“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,1,15) re“*"‘”zs
4192+ 0.0 4186+ 0.0 4185+ 0.0 4192+ 0.0
4000 | pl -35.58+ 0.00 4000 | pl -35.34+ 0.00 4000 | pl -34.93+ 0.00 4000 | pl -35.52+ 0.00
3500F 3500 3500 3500
3000F 3000 3000 3000
2500 2500 2500 2500 F
2000f 2000 2000F 2000
1500F 1500 F 1500 1500 F
1000F ~ _ 1000F ~ — E 1000F ~ _
C =28.10 [ps/ch] 000F C = 28.30 [ps/ch] 1000 ¢ = 28.63 [ps/ch] C =28.15 [ps/ch]
500k ) 500 - 500f " 500 "
- - - -
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC (Mean) vs TP delay (c,b,ch)=(6,2,0) 47e+04 /25 TVC (Mean) vs TP delay (c,b,ch)=(6,2,1) 67e+04/25 | TVC (Mean) vs TP delay (c,b,ch)=(6,2,2) 31e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,2,3) [165e+04 /25
4192+ 0.0 4202+ 0.0 4201% 0.0 4205+ 0.0
4000 F | p1 -37.29+ 0.00 4000 pl 0.00 4000 P | pl 353+ 0.0 4000 p1 35+ 0.00
3500 3500 F 3500 3500
3000F 3000 3000 3000 F
2500 .
F 2500 2500 2500
2000F 2000 2000 2000 -
1500F 1500 1500 1500
1000F
C =26.82 [ps/ch 1000F = = 1000 1000F ¢ =
o [ps/ch] C =27.85 [ps/ch] C = 28.33 [ps/ch] C =27.51 [ps/ch]
3 - 500F - s00F - 500 -
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,2,4) J2¢*%4/25 TVC (Mean) vs TP delay (c,b,ch)=(6,2,5) fg"e*o“ s TVC (Mean) vs TP delay (c,b,ch)=(6,2,6) [ 20¢04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,2,7) [*3¢*%4/25
4207 + 0.0 4212+ 0.0 4228+ 0.0 4242 + 0.0
4000 | pl -35.76+ 0.00 4000 | pl -36.05+ 0.00 4000 [ | pl -35.64+ 0.00 4000 e, | p1 36.1% 0.0
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3000F 3000 3000 3000 |-
2500 2500 2500 2500
2000 2000 |- 2000 2000
1500 1500 F 1500 1500 F
E 1000F ~ — 1000F ~ — 1000F ~ —
1000F C = 27,96 [ps/ch] C = 27.74 [ps/ch] C =28.06 [ps/ch] C =27.70 [ps/ch]
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0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC (Mean) vs TP delay (c,b,ch)=(6,2,8) r52e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,2,9) r88e+04125 TVC (Mean) vs TP delay (c,b,ch)=(6,2,10) rsse+o4 iz TVC (Mean) vs TP delay (c,b,ch)=(6,2,11) Il935+04/25
4213+ 0.0 4256+ 0.0 4257+ 0.0 4269 + 0.0
4000 | p1 -34.89+ 0.00 4000 &, | p1 -36.91+ 0.00 4000 5., | p1 -35.79+ 0.00 4000 e, | pl -36.7 % 0.0
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2000F 2000 - 2000 2000 -
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1000f- 1000F C = 27.09 [ps/ch] 1000F = 1000F C = 27.25 [ps/ch]
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- - - -
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC (Mean) vs TP delay (c,b,ch)=(6,2,12) I”“M“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,2,13) Il“e*o" /% TVC (Mean) vs TP delay (c,b,ch)=(6,2,14) '347e+04 125 TVC (Mean) vs TP delay (c,b,ch)=(6,2,15) r"“e*"‘”zs
4206+ 0.0 4232+ 0.0 4218+ 0.0 4237+ 0.0
4000, [p1 348+ 0.0 4000, [p2 4365+ 0.0 40002, [pr 35262 000 4000 [ [pr 35692000
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3000f 3000 3000 3000
2500 2500 2500 2500
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1000F ~ _ E F
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TVC (Mean) vs TP delay (c,b,ch)=(6,3,0) 01e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,3,1) 726+04 /25 | TVC (Mean) vs TP delay (c,b,ch)=(6,3,2) 62e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,3,3) 95e+04 /25
4188+ 0.0 4193+ 0.0 4207+ 0.0 4209+ 0.0
4000 F | p1 -36.57+ 0.00 4000F pl 36.78+ 0.00 4000% | pl -36.62+ 0.00 4000, p1 69+ 0.00
3500 3500 3500 3500
3000 3000 3000 |- 3000
2500F 2500 F 2500 2500
2000F 2000 2000 2000F
1500 1500 1500 1500F
E — 1000 = - —
1000E ¢ = 27.35 [ps/ch] C =27.19 [ps/ch] 1000F € = 27.30 [ps/ch] 1000F ¢ = 28.02 [ps/ch]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c.b,ch)=(6,3,4) f’sse*o‘”ZE TVC (Mean) vs TP delay (c,b,ch)=(6,3,5) f”‘””“ s TVC (Mean) vs TP delay (c,b,ch)=(6,3,6) f”e*‘“ e TVC (Mean) vs TP delay (c.b,ch)=(6,3,7) r“e“’““
4223£ 0.0 4226 0.0 4230+ 0.0 42412 0.0
4000 | p1 -37.36+ 0.00 4000 | pl -36.32+ 0.00 4000 (g | p1 -36.05+ 0.00 4000 ey | p1 -35.63 + 0.00
3500 3500 |- - 3500 3500 F
3000 3000 3000 3000
2500F 2500F 2500 2500
2000 2000F 2000 2000
1500 1500 - 1500 1500 -
1000F ~ — 1000 ~ _ E
C =26.76 [ps/ch] 100F ¢ = 27.53 [ps/ch] C =27.74 [ps/ch] 1000F C = 28.06 [ps/ch]
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,3,8) r94e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,3,9) TS TVC (Mean) vs TP delay (c,b,ch)=(6,3,10) r93e+o4 iz TVC (Mean) vs TP delay (c,b,ch)=(6,3,11) Il815+04/25
4228+ 0.0 4246+ 0.0 4274+ 0.0 4255+ 0.0
4000 | p1 359+ 0.0 4000 [ | p1 -35.36+ 0.00 4000 . | p1 -35.81+ 0.00 4000 ., | pl -35.61+ 0.00
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2000 2000 2000 2000
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1000 — 1000 _ 1000 —_ 1000 —
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- - - -
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,3,12) r‘”e*”“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,3,13) I755e+04 /% TVC (Mean) vs TP delay (c,b,ch)=(6,3,14) r’“e*"“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,3,15) rsze*"‘”zs
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500 . 500F e 500F - 500k s
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TVC (Mean) vs TP delay (c,b,ch)=(6,4,0) [ 11704/ 2 TVC (Mean) vs TP delay (c,b,ch)=(6,4,1) [f93¢70%/2 [1ve vean) vs TP delay (b c)=(6.42) 10412 TVC (Mean) vs TP delay (c,b,ch)=(6,4,3) [f'>¢"4/ 25
4206+ 00 4185+ 0.0 4207+ 00 42224 0.0
4000 | p1 -36.46+ 0.00 4000 P pl 34.47+ 0.00 4000% | pl -35.82+ 0.00 4000 [ p1 73+ 0.00
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,4,4) J0¢*%4/25 TVC (Mean) vs TP delay (c,b,ch)=(6,4,5) fsse*o“ s TVC (Mean) vs TP delay (c,b,ch)=(6,4,6) ['626*04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,4,7) [2%¢*%4/25
4257+ 0.0 4262+ 0.0 4263+ 0.0 4267 + 0.0
4000 | pl -37.63+ 0.00 4000 foua | p1 -36.76+ 0.00 4000 fome | pl -36.11+ 0.00 4000 jom | pl -35.6 + 0.0
3500F 3500 3500 3500 F
3000F - 3000 3000 3000
2500F 2500 2500 2500 F
2000f 2000 2000 2000
1500 1500 F 1500 1500
1000F ~ — 1000F ~ — 1000F ~ —
C = 26.58 [ps/ch] C =27.20 [ps/ch] C =27.69 [ps/ch] 000F ¢ = 28,09 [ps/ch]
500F - S00F - S00F . 500F -'.
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,4,8) [l E TVC (Mean) vs TP delay (c,b,ch)=(6,4,9) Ilsae+o4/25 TVC (Mean) vs TP delay (c,b,ch)=(6,4,10) I403e+04 iz TVC (Mean) vs TP delay (c,b,ch)=(6,4,11) '314e+o4/25
4220+ 0.0 4227+ 0.0 4244+ 0.0 4233+ 0.0
40005 | p1 -36.6 % 0.0 4000 £ | p1 -35.63+ 0.00 4000 | p1 -36.38+ 0.00 4000 | pl  -36.07+ 0.00
3500F 3500 3500 3500 F
3000F 3000 F 3000 3000
2500F 2500 2500 2500 F
2000f 2000F 2000 2000
1500 1500 - 1500 1500
1000F ~ _ 1000f ~ _ E~—
C =27.32 [ps/ch] 1000 ¢ = 28.07 [ps/ch] C =27.49 [ps/ch] W000F C = 27.72 [ps/ch]
500F - E - 500 - 500F -
- 500 - - -
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0 20 40 60 80 100 20 40 60 80 100 0 20 40 60 80 100 0 20 40 60 80 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,4,12) Il'ee*“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,4,13) f”e*o" /25 TVC (Mean) vs TP delay (c,b,ch)=(6,4,14) f"‘e*"“ /25 TVC (Mean) vs TP delay (c,b,ch)=(6,4,15) f“e*"‘”zs
4237+ 00 4230+ 0.0 4233+ 00 4243% 0.0
4000 [pr  -s623:000 4000 [ [pr  -se.02:000 4000, [pr 36042000 4000 [ [pr  -3675: 000
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TVC (Mean) vs TP delay (c,b,ch)=(6,5,0) 246404/ 25 TVC (Mean) vs TP delay (c,b,ch)=(6,5,1) 17e+04/25 | TVC (Mean) vs TP delay (c,b,ch)=(6,5,2) 48e+04 /25 TVC (Mean) vs TP delay (c,b,ch)=(6,5,3) 54e+04 /25
4197+ 0.0 4207+ 0.0 4219+ 0.0 4205+ 0.0
4000 | p1 -35.65+ 0.00 4000 & p1 356+ 0.0 4000 | | p1 -36.38+ 0.00 4000 fpue p1 76+ 0.00
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c.b,ch)=(6,5,4) rzee*o‘”ZE TVC (Mean) vs TP delay (c,b,ch)=(6,5,5) I“%E*O“ s TVC (Mean) vs TP delay (c,b,ch)=(6,5,6) r”e*‘“ e TVC (Mean) vs TP delay (c,b,ch)=(6,5,7) J°7¢"%4/25
4193+ 0.0 4189+ 0.0 4204+ 0.0 4206 + 0.0
4000 [pr 34082000 4000 [p2 -33.91+ 0.00 4000 5, [pr 34062000 4000, [pr  -3497: 000
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2500 2500 E 2500 2500 -
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1000F ~ —
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,5,8) I139e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,5,9) IZW&HMIZS TVC (Mean) vs TP delay (c,b,ch)=(6,5,10) I243e+04 iz TVC (Mean) vs TP delay (c,b,ch)=(6,5,11) I498e+04/25
4210+ 0.0 4208+ 0.0 4236+ 0.0 4242+ 0.0
4000 =3 | pl -35.67+ 0.00 4000 = | pl -35.15+ 0.00 4000 = | pl -35.57 + 0.00 4000 = | pl -35.45+ 0.00
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,5,12) I‘”e*”“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,5,13) r"se*o" /% TVC (Mean) vs TP delay (c,b,ch)=(6,5,14) '112e+04 125 TVC (Mean) vs TP delay (c,b,ch)=(6,5,15) r“e*"‘”zs
4220+ 0.0 4243+ 0.0 4216+ 0.0 4229+ 0.0
4000 [ | p1 -35.54+ 0.00 4000 G | pl -36+ 0.0 4000 | pl -35.06+ 0.00 4000 [y | p1 -35.98+ 0.00
3500 3500 3500 3500 -
3000F 3000 3000 3000
2500 2500 2500 2500 -
2000 2000 2000F- 2000F
1500 1500 1500 1500
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TVC (Mean) vs TP delay (c,b,ch)=(6,6,0) 75e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,6,1) 92e+04 /25 | TVC (Mean) vs TP delay (c,b,ch)=(6,6,2) 65e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,6,3) 99e+04 /25
4193+ 0.0 4208+ 0.0 4199+ 0.0 4212£ 0.0
4000 | p1 353+ 0.0 4000 p1 35.72+ 0.00 4000 | p1 -35.35+ 0.00 4000@ p1 0.00
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c.b,ch)=(6,6,4) I EBfES TVC (Mean) vs TP delay (c,b,ch)=(6,6,5) f%e*o“ s TVC (Mean) vs TP delay (c,b,ch)=(6,6,6) I“ee*"“ e TVC (Mean) vs TP delay (c.b,ch)=(6,6,7) r519+04/25
4170+ 1.4 4200+ 0.0 4188+ 0.0 4201+ 0.0
4000g [p2 34,61+ 0.03 4000 [pr 36132000 4000 [p2 -35.31% 0.00 4000, [pr  -3575: 000
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3000 3000 - 3000 3000
2500 2500 2500 2500
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1000F ~ _ E 1000F = =
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,6,8) r48e+04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,6,9) rz4e+05 025 TVC (Mean) vs TP delay (c,b,ch)=(6,6,10) PR TEE TVC (Mean) vs TP delay (c,b,ch)=(6,6,11) .zgse+o4/25
4211+ 0.0 4242+ 0.0 4253+ 0.0 4250+ 0.0
4000 | p1 -35.49+ 0.00 4000 [ | p1 -34.74% 0.00 4000 &, | p1 358+ 0.0 4000 &, | pl -35.03 + 0.00
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2000 2000 |- 2000 2000
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1000F ~ — P 1000 ~ = 1000F ~ —
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC (Mean) vs TP delay (c,b,ch)=(6,6,12) r”e*”“ 125 TVC (Mean) vs TP delay (c,b,ch)=(6,6,13) ‘ 77er04/25 TVC (Mean) vs TP delay (c,b,ch)=(6,6,14) r13e+04 125 TVC (Mean) vs TP delay (c,b,ch)=(6,6,15) I’”e*"‘”zs
4229+ 0.0 4221 0.0 4219+ 0.0 4233+ 0.0
4000 [pr 5672000 4000, [pr  -ss40:000 40002, [pr 5352000 4000 [ [pr  -3602: 000
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- - - -
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TVC (Mean) vs TP delay (c,b,ch)=(6,7,0) [P27¢704/2 TVC (Mean) vs TP delay (c,b,ch)=(6,7,1) [F22¢70%/25 [1ve vean) vs TP delay (b c)=6.7:2) 10412 TVC (Mean) vs TP delay (c,b,ch)=(6,7.,3) [P?25704/ 25
4181+ 0.0 4204+ 0.0 4210+ 0.0 4210+ 0.0
4000 F | p1 -35.31 0.00 4000 pl 36.52+ 0.00 4000 | pl -36.09+ 0.00 4000 p1 37+ 0.00
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